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Write the slope-intercept form of the equation of each line.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

7)  Slope = 3
5

,   y-intercept = 2 8)  Slope = 5,   y-intercept = -5

9)  Slope = - 9
5

,   y-intercept = 5 10)  Slope = 0,   y-intercept = -4



©T B2c0w1G4n mKKuvt]au ]SLoufltUwhaHrbe^ LLnLuCF.[ B WABlGlk brxi[geh[tRs[ arIeFsXeerrv`eqdA.i L NMMapdxe\ KwOiqtlhF dI_nufxicncibtyew NAClkgzejbnrDaA R2v.

Worksheet by Kuta Software LLC

Algebra Review

Week 3

Name___________________________________

Date________________  Hour____
©O G2X0F1a4S iKBuTtAas KSZoAfUtUwNaNrnei SLbLJCt.X M \AzlRlr RrAiGg^hmtXsT ordeOsce^r`vFeHdl.

Write the slope-intercept form of the equation of each line.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

7)  Slope = 3
5

,   y-intercept = 2 y = 
3
5
x + 2

8)  Slope = 5,   y-intercept = -5

y = 5x - 5

9)  Slope = - 9
5

,   y-intercept = 5 y = -
9
5
x + 5

10)  Slope = 0,   y-intercept = -4

y = -4


